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Switching cost % 2-parameter optimal stopping problem 199
ZonT ,
AMAS HEH EEMEE  (Teruo TANAKA)
§1 &
2-parameter optimal stopping problemik. 20D X7 4 (ALB) ZHRIZL. ED2D2DT X

TOLEYNEHERGVOHLL LELE BAT YT TOBELDY AT LORBY»HRE ZHFHEE
BRCTLBERUEROITZL WS HDTH S, D% D, 2-armed bandit problem 2 —{LL 2 d
OT. FHEE2ZXRT T= N2, R ICLERERR (X2 T} 25X 5. AR KOL528EE
ZxhidLwn: ‘ '

paaxxmdqu@)gﬁmw (1

Xes. =1 (ACS),B(E) (@)
BL. A= {AD),r=0,1,2,} ,B= {B(r),r=0,1,2,} i3, TREHEARE
fik. R OB & ' _ |
MDEZ2WTIR, KDL SIHRT 50 A BEWS 20DV AT LN H Y. &@ﬁ’?ﬁbﬁ%?’é i 3
"2 | ,
() R Xco.0=AD)+B(0)

(D) ADHRIZFYTEE  Xa.oz3 AT + BO)
(1) BOKKR1ZF 9 7HE  Xa.nz3 AT 13 B©)

() BOARIRFYTRE  Ka.z3 A 13 8@

W) MF. LORZFECED o
CCCHETAC LR, YRTFAMENT LRI, YRXTFABRBELTWS GHizonT bAK)
EWSTETHS. DD, BRXFYT T, —FOYRAFAEBP U, EUT. &9 1 X5 v 78
TEWSZETHD.
ZmMMHWOMMMsmmmgmwmm%%iﬁt%m\L@MT&Nt&B&&X?A@ﬁﬁ@
5 (BE) 2ZX2BENSHD . (switch) B> 2 LA EEIS 5,

T BXTY T'Ff?fiéﬂérunning reward2 iXBic. ¥ X F LAZ AP SBIC (B HAKRR) §1D
B &I2OHMb Scost(switching cost)’&%ﬁv&:%i, EH%*'JT%%%J’CL:?‘%&B%%EOHZ)EE



200
HicoWTHL 2, Hili0s. BREMICOVWTOARRBZZLIZT S, § 2 CIRREABEOERE. §
3Tk, —HBDOBEIZ DWW Tdynanic programming equationRL. BEMEW ST B, § 4.
§ 5 Cl&. Markov chain (2-parameter stochastic processd®#¥& k. bi-Markov chain £ E5) O
BaIcONWTHERD, |

§2 EZELENMEL

(Q,8,P) : complete probablity space
{$.,2€ T} : complete filtration T=N2y {o}

random variable 7 : Q—=T : Markov point

E {75z} éd?u vzeT

{o.,t=0,1,2,+-} : strategy starting at z

& (1) o : Markov point vt
(2) 61.1=0te; forsomei M HL e:=(1,0) e.=(0,1)
(3) 6o=2 |

( {o+},7) : tactic starting at z
E (1) {0} :strateéy starting at z
2 T:Q-'*“U‘{OO} : stopping time Ww.r.t. {%,,t=0,1,e} _
L. %= {Ae B:AN{0 S2}EB., V2 }

ABE  G1.1:%-measurable

>= {tactic starting at 0 £{k}
Sz= {tactic starting at z= &4k}

{X,,z€ T} »( 83;) -adapted hnifofmly bounded process

‘(running reward)



{Y,.ze T} : (,) -adapted uniformly bounded process

(terminal reward)

switching cost
C: {e;,i=1,2} 2-»R
C (e, ,e;) =0 k=]
#0 k#]

®:=6.1-06 for strategy {o:}

PROBLEM

n=({o.},7) €X

J(n)=E {Tgé 2" Xoa' € (0,-1,0,) 1" V(s )]

Find £ €3 such thatJ(§)=s;rupJ(7z)

fHL. 0<a<1 :discount factor

201
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§3 —BOBEIZONWT

z>0,
Ul zesssupE {g'l 2t (o) +aT¥(s )C (e..6 )+§'1at C(0:1,0.) | 8.1
7 ne‘ipz 20 t . isWe 1 t-la‘vt z

B, ROEHENMER S,

EH 3-1
i=1,2 z>0 LT,

U; = max {YZ’Eg)f,éE [X;+C (e, ex) +aUl;ek | .11}

z=0,ne;,neM 2L ClL. switching cost ZBWALDOTEET 2, OFh.

t -1t

T
X(o:) +a" ¥(o )+ gﬁla C(0:-1,0:) | Bo]

Tl
U = essng [T_O a

eBLE, ARICKODENE R 5o
EH 3-2

U0 =max {Ya,glg’&E [Xg+a\Uei | el } }

; e ;+te

Une.zmax {Ynei’ﬂg,&E [Xne;+ Clerew) +aU: e, | 8o} }g}



EE 3-3
7=( {c+} ,7) €2 : adnissible tactic

def 5 9
T U, =E [X“‘Ua( “)l Bol
1

6:)

3(8:-1)_ .
@ UL PVR B +C (01.1,61) ”‘Uim & ] on {t<7}
56 )
@ U_ =Y L. 8 (e =i
T T
D -4

admissible tactic IZEBETH 5.

EFH3-5
; \
<I>Z =JU 0 z=0
U1 z#0
Z

LB L. AR ‘{@i 2} i=1,2 ik, KORMAE 2 TERGABED > 5T, BNOBETH .

. i . kK ,
> ,
2 v =mﬁxE [XZ + C (e ,ey) +a?z+ek | & Z} z#0

i k
>
3 Wn_m?{xE [X0+a‘§”ek chO]
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§ 4 bi-Markov chain ORIz OWT

i=1,2
i i1 i i L. i i
(Q,& ,s&n ,Xn ’Px ) : homogeneous Markov chain with state space (E ,E )

. ‘ i . .
T1 : transition operator T £ (x)=E 1f (Xl)
n n : X n

ZDH®, Markov chain Iz LT, RO LS ICEFME (tensor product) 2k > THRKT %,

Q=Ql ®S22 B= 9&1 ® s&z E= E1® E2 E= El® 82
1 2
fB(s,t)—S&s® s&t
P-P1®P2 x=(X,,X:.)EE
X_ X, Xz - 1942
1 2
X () = (X (©),X (w3)) w=(w;,w,)EQ
(s,1) s t
1 2
T(S,t) TS ® Tt

CDLE ROMENEZS:

) 14 1=E° [£ (X ) 14
Z X1

. ) > > 3N
(1) 1vr(ZI:ZZ)’S=O Lﬁbf\ EX [f (X Z+(S,0) o

z4(s,0)
FE RS OWT HERR.

@ V(21,2),520 KHLT, E_[£ (X ) 13321 “E [f (X, )]

z+(s,0) (s,0)
BB IOV T HER.

(3) Markov property
vz,welN?2,

E [£(X_)I®1=E [ (X)] ~ /
X ZtW Z XZ W : . |

Y
[
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(4) strong Markov property
v T : Markov point, z€ N® e s R N
Ex [f (Xwa), !’tBZ] fEXT[f (Xw) ]
EE 4-1
J:'C“%ﬁﬁb?&%ﬂ (Q,cB,JBZ,XZ,PX) %. (E,E) %Zstate space &:%)4)\ bi-Markov chain

LB,

il

§ 5 bi-Markov chain DHBAIZOWT
f,g: bounded E-mesurable function on E

Problen

xeE, 7Z=( {c:},7) ez
EX{th;é (a'f (X(o:)) +#a'C (0:.1,0:) } ta'g (Ko D)} —Hax

EEX Do

(classcal)optimal stopping problem DIFED L 51z, REZEME 2583 2,
¥9. E LB {V.} ., {Wal, %&@iib:i%ﬁ‘z,:
Vg = Wﬂzg

1 2 ’
V .=max {V ,aT. .V +f,aT W +f+C (e,,e.) }
n+l n 1 n 1 n

2 1
W .=max {W ,aT W+f,aT .V +f+C (e.,e;) }
n+l n 1 n 1 n ‘
CDEE. BN,

1 2
V =max{g ,aT. V +f,aT W +f+C (e.,e.) }
n+l .1 n n :

1

: 2 1
W =pax {g ,aT W+f,aT.V +f+C (e,,e.) }
nt+l 1 n 1 n



N 2 R 2
¥ 7 Vn+1 Vn Wn+1 Wn

Bz, V=1imn V wW=lim W PEEL. REWET:
n—>oo n=>co n

n
1 2
V =nax {g ,aTlv +f,aT1W +f+C (e ,e;) } €D
2 1
W =max {g ,ale +f,aT1V +£+C (ez,eq) } (2)
o), ZHIZLUT. RO LS ICREBZEH* S84 2 .
T = {V:g} r = {W.—_ g} ............ Stopping domain
v w ,
rl = (v =arly +Yf}\I‘ P2 2 (W =aT°W £} \T  eoree:
1 “Y v 2 =2 w  Continuing
domain
1 2 1
T ={V=aTW +f+C(E1,ea)}\(F UF)
2 1 v 1
......... Sw1tch1ng
r f: [ W =aT§V +4C (e26) N ( T U ri) domain

CODEERIZL T, ROBRICtacticZEFD S :

. =0, c. =e. if XpeA..
0 1 J J
c_ te if o eI‘l ® .ce
6. .= t t i T t-1 1
t+l o, te if ¢, e ®. .ce
t ] t L o
T =]0 if Xp€A

=e1}ninf{th:X er , 0 =e2«*}

inf {t21: X €T , ©
Gy v c: W t-1

t-1

if Xgs€A
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L. U=nax {g,aTiV +f,aT§W +T}

A= {U=g}

A= {U=aTiV FETNA L A = {U=aTW +£1 (A U A

2 2

il 5-1
(U (X)),V (Xz) 220} e. {U (X)), W(X) z#0} it EM®3-5

DEAZEHZIBNDOBETH 3,

WmE 5-2
ETHR L 2 tacticik. admissible T& 5.

£ 5-3 ;
ETHRR U = tacticld, &8 TH 5,

AR ETHERLUZEV,. WX XORFZHZTRNOBEB TS S ¢

X2g yzg
1 2 ) .
xgaT1x+f y;aT1y+f ----- (a, £ )-i-excessive
2 1
XgaTl y+£+C (e, er) ygaTl x+f+C (e.,e1)



